Installation instructions funk

/Contents of installation kit: )
e 2 x spacer bolts MEx55
e 2 xlocking nuts M6
¢ angle with ball pin
e pan head screw M6x12
e glot nut M6

Tool requirement:
e open-end wrench SW 10
e adllen key SW 4
\_ e allen key SW 4 )

1. The funk is set upon three
mounting points A, B.and C. pic 1

2. Mounting points A and B:
e Screw on lock nuts and
spacer bolts. pic 2
e Screw both spacer bolts into
the threaded bushes A and B

VW e-Up 2013-2022

Montering av Frunk

f Innhold: )
e 2x Spacerskruer M6x55
e 2x Lasemutterer M6
e Brakett med kulehode
e Skrue M6x12
e Mutterbrakett

Verktgy som kreves:
eFastngkkel 10
e Unbrakongkkel 4

A" J

1.Frunken monteres pa tre
punkter A, B og C.

F)Lc 1

2.Monteringsplasser A og B
e Skru pa spacerskruen pa
|dsemutterene. pic 2

e Skru disse inn pa markert
plass A og B 5 vendinger.

with 5 turns. pic 3
e Tighten lock nuts in order e Stram I3sekruen slik at pic 2
to fix. pic 3 skruen settes fast.
(max. 5 Nm torque) (max. 5Nm Moment)
F'Lc 3
N
p

@

3. Mounting point C:

e [nsert slot nut in
angle connector. pic §

¢ Place the angle connector
with the positioned slot nut
on the mounting plate.  pic &

¢ To fix the angle connector,
screw the pan head screw
M6x12 to the slot nut.  pic 7
(max. 5 Nm torque)

FLC )

Fi.c: 7

3. Monteringplass C:

e Sett inn mutterbraketten
i braketten med kulehode.p.c &

* Plasser braketten med
kulehodet pa vist plass.

PLC &
e Sett inn skrue og stram
braketten.
(max. 5Nm Moment)
F-’.c 7




3

4. Put on frunk -

¢ Thread the box under the
technical engine
compartment edge.

e Position the vibration
damper C on attachment
point C and press on.

e Proceed in the same way for

vibration dampers A and B. pic #

5. Ensure a firm fit - donel.

Note:
e Do not load over the funk's

top edge.
e Maximum load 8 kg

Fic 9

Fic ¥

4. Montering av frunk:
e Sett frunken inn i motorrommet

« Plasser vibrasjonsdemper
pa festeplass (C) og press
den pa.

 Gjenta samme steg pa

festeplass A og B.
FLC ¥

5. Se over monteringen.
Ferdig! pic 2

Obs:
o Last ikke over toppen av

frunken
* Max last: 8kg




